Erster Verlust

For 2 mandolins (or violins)

Schumann Transcribed by H. Mann
J=70
/\
ﬂ o \ P . T /_\ﬁ
A ‘g 7 1) - ) ) == 1
0y} (f}) y - —
A = T T T e
ANV — ‘ e '
° e & ==

—¢
A

S AR B

15 poco piu lento

—1 N | o =T ]
i —1 _Qzﬁ g, o 7
@
Q) | CI’—eSC | ——
/\
A 4 jo e [, ~—
A 2] i # y — vy —w—) )
@ 1 ] | | Y 7 ‘A ] )] | ] ‘A ]/ &
g ° N '
—— e
<
22 atempo
/\n — f—
e ; g £ - : \
[ fen —1 y) y)
N3V [
e @ ——_\' ————
[ .

e
¢
A




29

—
o
&
IR -
ST~ r-\a
q_._-m._ ™
i I =
)| 3
A A
A A
Ty Ty

: AN I LB
< | L ey
B
L Ny

Wi | I

“ \ .

) l wmna , A | ! A
Lt U

|

. . ) g

i N ,
I | >

] A \ «-_) :
| -
b Teb . Jeb %%




